October 30, 2015

Byrom-Davey, Inc. Mr. Steve Davey 13220 Evening Creek Dr. South, Ste. #103 San Diego, CA 92128 1930/15

VIA FACISIMILE ONLY

Fax: 858-513-7198-9999

Dear Mr. Davey:

Subject: Contract CZ-16-0043-29 Design, Furnish and Install Synthetic Turf Fields and Running Tracks at Various District Sites on an As-Needed Basis (IDIO)

Notice to Proceed No. 01 – Marshall Elementary School Construct Synthetic Turf Play Field including synthetic turf field, lane striping, quick coupler system, drainage system, paving, concrete curbs, fence and permanent backstops. Excludes soccer goals.

District Representative: Loren Chico

This letter constitutes your notice to proceed with work at Marshall ES per your proposal with attached scope of work breakdown to Loren Chico dated October 21, 2015 for the not-to-exceed total amount of \$578,384.

Work shall begin on November 9, 2015 and be completed no later than February 29, 2016.

Please refer to this NTP number on all your correspondence and invoices.

Original invoice should be sent to:

San Diego Unified School District PPO Center, Attn: Linda Weekly 4860 Ruffner Street San Diego, CA 92111

Please call me if you have any questions regarding this NTP. Invoicing inquiries should be directed to Linda Weekly at (858) 637-6246.

Sincerely,

Graham Champion CPPB

Labor Compliance and Construction Contracts Supervisor

GC:ba

Attachment

cc: L. Chico, F. Shuman, S. Young, I. Anderson

13220 Evening Creek Drive South
Suite #103
San Diego, Ca. 92128
(858) 513-7199 (858) 513-7198 Fax
www.byrom-davey.com

NTP#1

October 21, 2015

To:

Loren Chico San Diego Unified School District 4860 Ruffner Street San Diego, CA 92111 Project:

Design, Furnish and Install Synthetic Turf Fields and Tracks on an As-Needed Basis (IDIQ) CZ-16-0043-29

Marshall Elementary School
Synthetic Turf Play Field

### Proposal- Marshall Elementary School Synthetic Turf Play Field

### Description of Work:

Construct Marshall Elementary School synthetic turf play field. Includes synthetic turf field, drainage system, quick coupler system, asphalt paving and lane striping, concrete curbs,fence and permanent backstops. Excludes soccer goals.

ITEM	COMPONENT	QUANTITY	UNIT	UNIT COST	AMOUNT
30	Construct Synthetic Turf Play Field System, Including Additional Equipment and Maintenace Materials, Complete and in Place	1	EA	549,000.00	549,000.00
9	Provide Permanent Field Markings for Field Hockey on Football /Soccer Field or Stand Alone Soccer Field	2	EA	5,750.00	11,500.00
62	Remove Existing Asphalt Paving to 4" Thick and Existing Rock Base to 6" Thick	37	SY	29.00	1,073.00
118	Provide 4" AC Paving Over Graded and Compacted Native Base	10,749	SF	5.00	53,745.00
122	Provide Chain Link Fence More than 4'-0" High to 10'-0" High Including Posts and Footings	70	LF	64.00	4,480.00
123	Provide Chain Link Fence More than 10'-0" High to 20'-0" High Including Posts and Footings	105	LF	227.00	23,835.00
125	Provide 6"x12" Deep Concrete Curb	327	LF	25.00	8,175.00

Marian Scholle  Marian Scholle, Project Manager	Signature			 Date	
Submitted By:	Approved By	: :			
	To	otal Cost		\$	578,384.00
Design and Construct Additional Synthetic Turf Playfield Area Complete and In Place Including Additional Field Drainage System and Additional Field Irrigation System as Required		SF	13.00		(73,424.00)

Byrom-Davey, Inc.

#### TRANSMISSION VERIFICATION REPORT

TIME : 10/30/2015 12:34 NAME : SDUSD CONST MGMT FAX : 8584961953

TEL : 8584961953 TEL : 8586376266 SER.# : BROG1J294805

DATE, TIME FAX NO./NAME DURATION PAGE(S) RESULT 10/30 12:33 95137198 00:00:32 03 OK STANDARD ECM



Facilities Contracts Department CONTRACTS COMPLIANCE DEPARTMENT Fax: 858.496.1953

October 30, 2015

Byrom-Davey, Inc. Mr. Steve Davey 13220 Evening Creek Dr. South, Ste. #103 San Diego, CA 92128 **VIA FACISIMILE ONLY** Fax: 858-513-7198-9600

Dear Mr. Davey:

Subject: Contract CZ-16-0043-29 Design, Furnish and Install Synthetic Turf Fields and Running Tracks at Various District Sites on an As-Needed Basis (IDIQ)

Notice to Proceed No. 01 – Marshall Elementary School Construct Synthetic Turf Play Field including synthetic turf field, lane striping, quick coupler system, drainage system, paving, concrete curbs, fence and permanent backstops. Excludes soccer goals.

### District Representative: Loren Chico

This letter constitutes your notice to proceed with work at Marshall ES per your proposal with attached scope of work breakdown to Loren Chico dated October 21, 2015 for the not-to-exceed total amount of \$578,384.

Work shall begin on November 9, 2015 and be completed no later than February 29, 2016.

Please refer to this NTP number on all your correspondence and invoices.

Original invoice should be sent to:

# NTP Request (No PO Exists)

## Upper Form

Record Number: NTP-000001

Project Name: Marshall ES New

Synthetic Turf Field

Project Number: 91950053.1

Creator: Loren Chico

Creation Date: 10/23/2015 09:01 AM

(NTC-8)

Status: Pending

Record Last Update 10/30/2015 11:49 AM

Date: (UTC-8)

Peoplesoft PO Number: 0000268684

Title: Marshall ES Synthetic Turf Play Field

NTP Number: 001

Estimated Task Order \$578,384.00

Amount:

Reference Contract: CON-000005

Effective Date: 10/01/2015 05:00 PM

Expiration Date: 09/30/2016

E-Mail:

Contract Number: CZ-16-0043-29

Full Contact Name: Vendor Name: Byrom-Davey, Inc

Doing Business As N/A (DBA): Description: Construct Marshall ES synthetic turf play field, drainage system, quick

coupler system, AC paving and lane striping, concrete curbs, fence and permanent backstops. Excludes soccer goals.

Justification: It is prescribed by Prop Z bond measure.

Proposed Task Order 11/09/2015

Start Date:

Proposed Task Order 02/29/2016

End Date:

Final Task Order Start 11/09/2015

Date:

Final Task Order End 02/29/2016

Date:

**Business Unit: SDUSD** 

Project Name: Marshall ES New

Synthetic Turf Field

Peoplesoft Activity ID: (H) Construction

Resource:

**Project Costing SVCS** 

Project ID: 91950053.1

## **Standard**

### Item(s)

9195-90403-00- Z.			Amount	
9195-90403-00-	1200	Code Name		
6200_8500_0000	Z.FPC		The state of the s	ı
-0000-0000-0070	Construction IDIQ Construction	IDIQ Construction Prop S - 90403	\$578,384.00	
21400-8665 Ng	Aghbr Sch	•		

**Total Amount** \$578,384.00

# Attachments (1)